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21. "Is it important to be on time?"

"YES, i on time is important."”

1) being 2) be 3) to being 4) that to be

22. It's been raining heavily ......cccceeeeenee we left home this morning.

1) as 2) since 3) when 4) because

K R the other team members agree to help me or not is not going to make me change my mind about
what I plan to do next.

1) As 2) While 3) Which 4) Whether

24, Let's woeevveresverenens the teacher collect the exam papers.

1) help 2) helping 3) to help 4) helped

25.In addition to ............ us to work better, computers are opening new fields of endeavor.
1) help 2) helping 3) to help 4) helps

26. The man could make his lecture more interesting by ........cceeeeee. Some picture to the audience.
1) show 2) shown 3) showed 4) showing

26. The question of school books will come up for .................. at today's meeting.

1) instruction 2) discussion 3) information 4) competition

27. Married people live longer and have better general .................. than the unmarried.

1) knowledge 2) health 3) bones 4) muscles

28. The central Mountains .................. for hundreds of kilometers from north to south.

1) reacts 2) hits 3) stretches 4) locates

29. I’ll wear my best clothes for that meeting because it is a very special .................. .

1) belief 2) result 3) occasion 4) stance

30. This hotel bill doesn’t .................. dinner. You have to pay for it separately.

1) cause 2) include 3) store 4) describe

31. When children do badly at school, parents often .................. with anger.

1) expect 2) imagine 3) react 4) mention




There was once a time when | had no fear. [ was 11 years old and I entered a storytelling competition. I was ......... A.....
telling the story and capturing everyone's attention, when suddenly I heard a voice from just in front of the stage

......... B......... about my nose. It was totally disastrous from that moment on. That was the exact time that [ began to have
a certain fear of public speaking.

Over the years I finally overcame my fear of public speaking. I can now speak at any function ......... Cooen the
nervousness is still there; ......... D........ I am able to control it. It was not easy but I made it with some help from books
and ......... E...... including admitting nervousness, making mistakes intentionally speaking to one person at a time and
so on

32.A

1) unclearly 2) indifferently 3) confidently 4) gradually

33.B

1) advising 2) commenting 3) evaluating 4) observing

34.C

1) impressed 2) unprepared 3) distracted 4) developed

35.D

1) even though 2) whereas 3) since 4) however

36. E

1) I developed a few techniques myself 2) a few techniques I developed myself

3) myself developed a few techniques 4) techniques developed by me a few

Passage (1):

For ages, sailors have said that it is good luck to see dolphins swimming alongside boats. Their presence meant that
land was near, which would be valuable information if a boat and her crew were in danger. Some dolphins have even
protected sailors who lost their boats from sharks. It is no wonder that these lovely creatures have long been known as
our friends.

You may think dolphins are fish, but they are actually mammals. They are related to whales and porpoises, and they
evolved around 10 million years ago. Dolphins breathe air, give birth to live young, and feed them milk. They are
social animals, living together in groups called pods or schools that vary in size of up to 12. In places rich in food,
many schools can combine together to form pods of up to 1,000 dolphins.

Dolphins are thought to be intelligent animals because of their playfulness, curiosity, and quick ability to learn. They
seem to communicate with each other through a combination of squeaks, whistles, and clicks. While scientists don’t
know what they are going on about, it is thought that dolphins are telling each other that food is nearby, or warning
each other of approaching danger. Dolphins use sonar to discover an object’s size, shape, and location. By sending out
a series of short, sharp sounds and receiving the echo that bounces off the object, they can differentiate between a
shark and a boat.

Unfortunately, dolphins have faced increasing danger in recent years. Fishermen searching for tuna may accidentally
trap dolphins in their nets, killing them in the process.

37. Which of the following is NOT true about dolphins?

1) Tuna fishermen are a danger to dolphins.

2) Some dolphins have saved humans from sharks.

3) Female dolphins lay their eggs in deep water.

4) Pods are usually the largest in places where there is plenty food.

39. The passage implies that dolphins are similar to ..................
1) sharks and whales

2) tunas and sharks

3) porpoises

4) whales and porpoises

40. According to the passage, dolphins communicate with one another ..................
1) by sending out radio waves

2) only when food is nearby

3) through various noises

4) because of their quick ability to learn

41. What happens to those dolphins accidentally caught in fishermen's nets?
1) They are sold 2) They are kept
3) They are killed. 4) They are released.
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Experts estimate that there are more than 8 million restaurants in the world today. So it might surprise you to learn that
restaurants as we know them have only existed for a few centuries. Before 1765, there were no restaurants. That is, there
were no places that provided the restaurant experience. There was nowhere in which a server brought you food and
drink that you picked off of a menu. In fact, there were no menus anywhere!

There were places travelers could eat centuries before that. The countryside was full of inns that would serve food.
The wealthy could also eat personally catered meals supplied by private chefs. But there was nothing that could be called
a “restaurant.”

A. Boulanger changed that. In 1765, he opened a place in Paris that sold soups. On his sign, he used the term
“restaurants” to describe what he was selling. See, soups were considered “restorative,” so he called them “restaurants.”
Eventually, people started buying Boulanger’s soups even when not ill. And over time, people began to use the term
“restaurant” to refer to the place soup was sold rather than the soup itself. More “restaurants” opened up in France, and
people began to purchase soups more regularly.

Then, restaurants in Paris began to serve food other than soups. In the 1780s, menus started to appear. By the 1800s,
there were many types of restaurants. The United States offered coffee shops and oyster houses. Paris began creating
elegant restaurants for the rich. The British began to copy the French, and the restaurant concept was spread throughout
the British Empire.

A slow start gave way to rapid growth. Urban areas around the world are cluttered with eateries today. The European
Union estimates that there are 1.6 million restaurants in Europe. In America, there are nearly a half million restaurants.

42- According to the passage, about how many restaurants are there in the world today?
1) a half million 2) 1.6 million
3) 8 million 4) more than 8 million

43- Information presented in the first two paragraphs suggest that the author most likely sees a restaurant as
1) a place that is very uncommon in the world 2) something other than just a place to eat food
3) a thing that had to be invented by the French 4) something other than a place that has a menu

44- The first thing to be called a restaurant ...............
1) only served soups 2) was created by the British
3) was invented in the 1780s 4) included a menu

45- This passage is most concerned with ............... .

1) how people eat out around the world
2) how restaurants invented menus

3) the history of British restaurants

4) the history of restaurants
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